
Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            1 of 30         	        503-030 [10.17]      

TIP HAZARD WARNING!
Cabinet must be affixed to wall. 

For use with video monitors weighing 400 lbs (181kg) or less. 
Use with heavier televisions may result in instability causing 
tip over resulting in death or serious injury.

4 BAY Low Profile - SINGLE XL DISPLAY 
WALL MOUNT CABINET 

D1/347AMxl  ASSEMBLY INSTRUCTIONS



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            2 of 30         	        503-030 [10.17]      

warnings

IMPORTANT SAFETY INSTRUCTIONS 

READ ALL INSTRUCTIONS BEFORE USING THIS FURNISHING

WARNING! Failure to comply with these instructions may result in accident involving serious personal 
injury. Failing to follow these instructions can result in the product being damaged or being destroyed or 
voiding of the warranty.

WARNING!  For use with video monitors weighing 400 lbs (181 kg) or less. Use with heavier televisions  
may result in instability causing tip over resulting in death or serious injury.

CAUTION!  

	 •	 Close supervision is necessary when this furnishing is used by or near children, invalids, 
		  or disabled persons
	 •	 Use this furnishing only for its intended use as described in these instructions. 
		  Do not use attachments not recommended by the manufacturer.   
	 •	 Do not use outdoors
	 •	 For Commercial Use Only    	

Weight Capacities:  	 Max Display Load: D1/347AMXL - 400 lbs (136kg)
					     Max Shelf Load (each) - Nominal - 50 lbs (23kg)

TIP HAZARD WARNING!
Cabinet must be affixed to wall. 

For use with video monitors weighing 400 lbs (181kg) or less. 
Use with heavier televisions may result in instability causing 
tip over resulting in death or serious injury.

                    ***** SAVE THESE INSTRUCTIONS *****

Accessories and Spare Parts

Please contact Salamander Designs 860.761.9500 or www.salamanderdesigns.com/commercial

Tools needed
Drill Driver
#2 Phillips Head Screw Driver
1/2 Drill Bit for Standard Installation
3/16” Drill Bit for Wood Stud Installation
Pencil
Tape Measure
Level

TOOLS INCLUDED

PART #	 DESCRIPTION
		
400-035	 Level Wrench
400-030	 1/4” Long Arm Hex Key
301-240	 Double Sided Tape 1” x 2”
P-400-030	 Driver Bit 1/4” Hex Key
400-080	 5/32” Hex Key
400-060	 3/16” Hex Key- Long Arm
400-125	 1/2” X 8” Velcro Wrap Strap



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            3 of 30         	        503-030 [10.17]      

hardware

E

N

Q

A

D

B

C

O

ID		  PART #	 DESCRIPTION

A		  300-485	 1/4-20 x 1/2” Button Head Socket Screw
B		  300-465	 1/4-20 x 3/4” Button Head Socket Screw
C		  303-505	 1/4-20 x 3/4” Set Screw
D		  301-730 	 5/16 x 2.5” Lag Bolt
E		  301-265	 1/4-20 - JCN			    
F		  301-695	 M8 x 16mm Pan Phillips Head Screw	
G		  301-000	 5/16-3/4” Countersink Socket Screw
H		  300-518	 1/4-20 x 3//8” Button Head Socket Screw
I		  300-560	 1/4-20 Flat Nut
J		  301-010	 5/16-18 x 3/4 Button Head Screw
K		  300-480	 1/4-20 x 7/8” Head Socket Screw
L		  300-520	 1/4-20 Small Flat Nut
M		  301-055	 3/8” X 2” Alligator Wall Anchor
N		  300-565	 Drop-In Nut
O		  300-835	 Universal Shelf Peg
P		  300-470	 5/16” Flat Washer
Q		  303-855	 Universal Wall Bracket
R		  300-468	 1/4”  Flat Washer
S		  301-462	 Shoulder Washer
T		  300-580	 Cage-Nut
U		  300-525	 5/16-18 x 1.50” Head Socket Screw
V		  300-462	 1/4-20 x 2.25” Head Socket Screw
W		  305-062/GT	 Display Mounting Bracket
X		  301-745	 Snaptoggler 2 Pack

P

W

X

S

T

R

U

V

M

F

G

H

I

J

K

L



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            4 of 30         	        503-030 [10.17]      

1. 	 install CABINET WALL BRACKETS
TIP HAZARD WARNING!  Cabinet MUST be affixed to wall. 

Loosely mount Bracket (Q) 
using Screw (A), Washer (R)
and cage-nut (T).

Install cage-nut (T) onto mount  
in two locations shown in the  
illustration below.

B

A

Q

A

R

T



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            5 of 30         	        503-030 [10.17]      

NOTE:
Adjustments has been provided in the bracket 
to mount the cabinet  0-1” of the wall to account 
for baseboard trim or other obstacles.

Jam Nut

Loosen jam nut with supplied wrench  
 and tighten to the locked position.   

Place cabinet in desired location and 
mark bracket holes. Once holes have 
been marked move cabinet.

WARNING! This step requires two people.

2. 	 Level cabinet & MARK WALL

A B

Prior to fastening to wall, it is important to level the cabinet 
with the floor by verifying that feet are properly adjusted. 

Check and level length and depth of cabinet. 
  



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            6 of 30         	        503-030 [10.17]      

3.	 CAMERA SHELF (OPTIONAL) 

A

S

Q
R

B

Install Mount

Install (Q) Bracket slots to the center of the 
middle vertical mounting post using Screw (U)
and Washers (R).

Install Post

Insert Screw (H) and Washer (R) 
through the Bracket to Flat Nut (I)
and tighten with Hex Key.

I H

R

I H

R

U



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            7 of 30         	        503-030 [10.17]      

G

3.	 CAMERA SHELF (OPTIONAL) 

C Install Shelf

Install Camera Shelf to Mounting Post using 
2 Screws (G).

D Place Camera

Use double side tape to secure 
camera from sliding off shelf.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            8 of 30         	        503-030 [10.17]      

Drill 1/2” diameter hole. Hold metal 
channel flat alongside plastic straps 
and slide channel through hole.

Hold ends of straps between thumb 
and forefinger and pull toward you 
until channel rests flush behind wall. 
Slide plastic cap along straps with either 
hand with flange of cap is flush with wall.

Snap straps at wall by pushing side 
to side,snapping off straps level with 
flange of cap.

Move cabinet to wall and attach 
bracket. Insert bolt through bracket 
and tighten until snug against wall.

Install wall fasteners to marked location on wall & fasten cabinet.

NOTE: Alternate fasteners provided for wood or masonry installation.

4. 	 install WALL FASTENERS (most applications)

A B

C D



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            9 of 30         	        503-030 [10.17]      

WOOD: Locate two framing studs using a stud finder device. 

MASONRY: Place brackets in desired location. 

WOOD: Use a 3/16” [5mm] drill bit and drill holes 2.5” [64mm] deep. 

MASONRY: Use a 3/8” [10mm] drill bit and drill holes 2.5” [64mm] deep. 

4. 	 install WALL FASTENERS (ALTERNATE)

C DInsert wall anchors (M) into hole. Place cabinet in place and fasten
with washers (P) and Lag Bolts (D).

A

M

P

D

B



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            10 of 30         	        503-030 [10.17]      

5. 	 install Brush seal  
	
	 Use with baseboard molding, trim work or gaps in uneven wall surfaces. 
	 Brush Seal Holders should stay flush to surface so that ONLY brush is showing.

Mount
Peel off tape and install by aligning 
and affixing brush to the inside rear 
of vertical mounting post.

Cabinet Side
Peel off tape and install from inside 
of cabinet by aligning and affixing 
the brush seal to rear inside panel.

A

B



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            11 of 30         	        503-030 [10.17]      

6.	 INSTALL display BRACKETS    

Install Washer to Brackets

Affix shoulder washer (S) to Interface 
bracket (W) with screw (J) on the top 
and bottom hole as shown. 

Note position of washer relative 
to bracket.

A

B

S

J

Attach Brackets to Display

Fasten the brackets using fasteners (length and size recommended 
by the display manufacturer. Using improper screw length can 
damage the display.

NOTE: 
Other displays may use 
different screw lengths. 

M8 16mm screws are 
supplied for use with 
Microsoft Surface Hub.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            12 of 30         	        503-030 [10.17]      

6.	 INSTALL display BRACKETS    

Using the key slots provided on mount face, slide display into place.

7.	 ADJUSTING DISPLAY TILT ANGLE (OPTIONAL)   
Mount tilt is preset at factory. If adjustment is necessary, 
remove display, loosen bolts (V) and adjust bolts (K) in three 
locations to achieve proper tilt. Do not over tighten screw (V).

Adjusting screws (K) will tilt mount. Screws (V) hold mount in 
desired position

V

Side View

K

K

WARNING! This step requires two people.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            13 of 30         	        503-030 [10.17]      

8. 	 install Shelves

B

C

Insert into post channel 
and slide to desired height. 
Level shelf by adjusting 
shelf peg positions and 
tighten screw using hex key.

Note: Drop-in nut must 
make a 1/4 turn in post.

Assemble loosely as shown.

B
O

N

Drop-In Nut Option
Should you desire shelf placement in location other than  
predrilled locations, use the drop-in nut option.  
This option allows shelf to be placed at any height. 

A.	 Shelf placement can be adjusted if necessary to either predrilled locations 
	 or any location using Drop-In Nuts (N) Shelf Peg assembly (see diagram below).

B.	 Place shelves on pegs.

C.	 Install shelf stops in front or back of shelf as desired.

D. 	 Install accessories (IR Repeater Kit, Power Conditioner, etc) and place components.

A



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            14 of 30         	        503-030 [10.17]      

Insert Drop-In Nut (N) into 
the slots of the vertical 
mounting post and using 
the provided Hex Key.

C

Loosely assemble Set 
Screw (C), JCN (E) and 
Drop-In Nut (N) through 
each hole in the panel.

Modesty Panel 
Removing and Re-Installing 

NOTE: Be sure bottom of modesty panel is flush to cabinets top.

ADJUSTMENT TIPS

A B

3U Vertical Rack
 

Remove 
Loosen screws on both sides. 
Then tilt rack until the hook is 
free and lift up until the rack is 
free from bottom screw.

Re-Install
Slide the slotted ends of the 
rack over the bottom screw and 
hook the top screw as shown.

Tighten with provided 
Hex Key.A B

EN



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            15 of 30         	        503-030 [10.17]      

Main Adjustment (Side to Side and Up/Down) 
Adjustment is made by turning screw (A) in and out. 

Dismount Hinge from Hinge Plate 
With one hand holding the door open, pull        
back on the hinge quick-release lever (B).

Door Front

Adjust the tops of the doors to be 
parallel to the top of the cabinet.

A

A

A

LIMITED WARRANTY FOR COMMERCIAL VIDEO DISPLAY STANDS AND MOUNTS
 

Salamander is proud to stand behind our products with industry-leading warranties. Should you ever encounter any problem with your  
Salamander product, let us know.  We are here to make it right. 1.860.761.9500

 
Full warranty including limitations and warranty claim information may be found at www.salamanderdesigns.com/commercial/warranty

Made in USA
 

ADJUSTMENT TIPS

DOORS
NOTE: It is important that cabinet is level before adjusting doors, see step 2. 

 

A

B



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            16 of 30         	        503-030 [10.17]      

WARNUNG: KIPPGEFAHR! 
Schrank muss an der Wand befestigt werden. 
Zur Verwendung mit Videomonitoren mit einem Gewicht von 300 kg (136 kg) oder weniger. Eine Nutzung 
mit schwereren Fernsehern kann eine Instabilität und ein Kippen der Einrichtung verursachen, das zu einem 
Todesfall oder zu schweren Verletzungen führen kann.

AVERTISSEMENT DE DANGER & CONSEIL 
Le meuble DOIT être fixé au mur. 
Pour une utilisation avec des moniteurs vidéo pesant 300lb (136kg) ou moins.    Une utilisation avec des 
téléviseurs plus lourds peut causer de l’instabilité provoquant un basculement entraînant la mort ou de 
blessures graves.

¡ADVERTENCIA DE RIESGO DE VOLCAMIENTO!   
El gabinete DEBE fijarse a la pared.
Para el uso con monitores de video que pesen 300 lbs (136 kg) o menos. El uso con televisores más 
pesados puede resultar en una inestabilidad que genere un volcamiento que podría provocar la muerte o 
lesiones serias.

4 BAY Low Profile - SINGLE XL DISPLAY 
WALL MOUNT CABINET 

D1/347AMxl  	INSTRUCCIONES DE MONTAJE
	 INSTRUCTIONS DE MONTAGE
	 Montageanleitungen



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            17 of 30         	        503-030 [10.17]      

hardware / Matériel / hardware

E

Q

A

D

C

O

ID		  PART #	 DESCRIPTION

A		  300-485	 1/4-20 x 1/2” Button Head Socket Screw
B		  300-465	 1/4-20 x 3/4” Button Head Socket Screw
C		  303-505	 1/4-20 x 3/4” Set Screw
D		  301-730 	 5/16 x 2.5” Lag Bolt
E		  301-265	 1/4-20 - JCN			    
F		  301-695	 M8 x 16mm Pan Phillips Head Screw	
G		  301-000	 5/16-3/4” Countersink Socket Screw
H		  300-518	 1/4-20 x 3//8” Button Head Socket Screw
I		  300-560	 1/4-20 Flat Nut
J		  301-010	 5/16-18 x 3/4 Button Head Screw
K		  300-480	 1/4-20 x 7/8” Head Socket Screw
L		  300-520	 1/4-20 Small Flat Nut
M		  301-055	 3/8” X 2” Alligator Wall Anchor
N		  300-565	 Drop-In Nut
O		  300-835	 Universal Shelf Peg
P		  300-470	 5/16” Flat Washer
Q		  303-855	 Universal Wall Bracket
R		  300-468	 1/4”  Flat Washer
S		  301-462	 Shoulder Washer
T		  300-580	 Cage-Nut
U		  300-525	 5/16-18 x 1.50” Head Socket Screw
V		  300-462	 1/4-20 x 2.25” Head Socket Screw
W		  305-062/GT	 Display Mounting Bracket

B

P

W

S T

R

U

V

M

F

G

H

I

J

K

L

Herramientas necesarias
OUTILS NÉCESSAIRES 
WERKZEUGE BENÖTIGT

Drill Driver
#2 Phillips Head Screw Driver
1/2 Drill Bit for Standard Installation
3/16” Drill Bit for Wood Stud Installation
Pencil
Tape Measure
Level

HERRAMIENTAS INCLUIDAS
OUTILS INCLUS 
WERKZEUGE INBEGRIFFEN
PART #	DESCRIPTION
400-035	 Level Wrench
400-030	 1/4” Long Arm Hex Key
301-240	 Double Sided Tape 1” x 2”
P-400-030	 Driver Bit 1/4” Hex Key
400-080	 5/32” Hex Key
400-060	 3/16” Hex Key- Long Arm
400-125	 1/2” X 8” Velcro Wrap Strap



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            18 of 30         	        503-030 [10.17]      

Advertencias

avertissements

Warnungen

INSTRUCCIONES IMPORTANTES DE SEGURIDAD 
LEA TODAS LAS INSTRUCCIONES ANTES DE UTILIZAR ESTOS MUEBLES
¡ADVERTENCIA!  No cumplir con estas instrucciones puede resultar en accidentes que involucren lesiones personales serias. 
No seguir estas instrucciones puede resultar en daños o destrucción del producto e invalidez de la garantía.
¡ADVERTENCIA!   Para el uso con monitores de video que pesen 300 lbs (136 kg) o menos. El uso con televisores más 
pesados puede resultar en una inestabilidad que genere un volcamiento que podría provocar la muerte o lesiones serias.
¡PRECAUCIÓN!    

•	 Es necesario mantener una supervisión cercana cuando los muebles están siendo utilizados por niños o personas 
discapacitadas

•	 Utilice estos muebles únicamente para su uso de diseño conforme se describe en estas instrucciones. No utilice 
complementos que no estén recomendados por el fabricante.   

•	 No utilizar al aire libre.
•	 Únicamente para uso comercial.

Capacidades de peso:  Carga máxima: D1/347AMXL - 300 lbs (136kg)

 ***** GUARDE ESTAS INSTRUCCIONES *****
Accesorios y partes de repuesto
Por favor contacte a su proveedor de Salamander Designs 860.761.9500 o www.salamanderdesigns.com/commercial

CONSIGNES IMPORTANTES DE SÉCURITÉ 
LIRE TOUTES LES INSTRUCTIONS AVANT D’UTILISER CE MOBILIER
AVERTISSEMENT ! Le non-respect de ces instructions peut entraîner des accidents impliquant des blessures graves. Ne pas 
suivre ces instructions peut entraîner des dommages ou la destruction du produit ou l’annulation de la garantie. 
AVERTISSEMENT ! Pour une utilisation avec des moniteurs vidéo pesant 300lb (136kg) ou moins. Une utilisation avec des 
téléviseurs plus lourds peut causer de l’instabilité provoquant un basculement entraînant la mort ou de blessures graves.
ATTENTION !  
	 •	 Une surveillance étroite est nécessaire quand ce mobilier est utilisé par ou près d’enfants, d’invalides 
		  ou de handicapés.
	 •	 N’utilisez cet appareil que pour son usage prévu, tel que décrit dans ces instructions.   
		  N’utilisez pas d’accessoires non recommandés par le fabricant.   
	 •	 Ne pas utiliser à l’extérieur
	 •	 Pour un Usage Commercial Seulement    
Capacités de Charge :  Charge Max. : D1/367AMXL - 300 lb (136kg)

 
***** CONSERVEZ CES INSTRUCTIONS *****

Accessoires et Pièces de Rechange
Veuillez communiquer avec votre revendeur Salamander Designs le plus proche ou au www.salamanderdesigns.com/commercial

WICHTIGE SICHERHEITSHINWEISE 
LESEN SIE ALLE HINWEISE VOR DER VERWENDUNG DIESER EINRICHTUNG
ACHTUNG! Die Nichtbeachtung dieser Anweisungen kann zu Unfällen mit schweren Verletzungen führen. Die Nichtbeachtung 
dieser Anweisungen kann dazu führen, dass das Produkt beschädigt oder zerstört wird, oder die Garantie verfällt.
ACHTUNG! Zur Verwendung mit Videomonitoren mit einem Gewicht von 300 kg (136 kg) oder weniger. Eine Nutzung mit 
schwereren Fernsehern kann eine Instabilität und ein Kippen der Einrichtung verursachen, das zu einem Todesfall oder zu 
schweren Verletzungen führen kann.
VORSICHT!  

•	 Eine sorgfältige Beaufsichtigung ist erforderlich, wenn diese Einrichtung von oder in der Nähe von Kindern, Gebrechlichen 
oder Behinderten genutzt wird.

•	 Benutzen Sie diese Einrichtung nur für den vorgesehenen Verwendungszweck, wie in dieser Anleitung beschrieben. 
Verwenden Sie keine Anbauteile, die nicht vom Hersteller empfohlen werden.   

•	 Nicht im Freien benutzen
•	 Nur zum kommerziellen Gebrauch   

Tragkraft:  Maximallast: D1/367AMXL - 300 Pfund (136kg) 

***** BEWAHREN SIE DIESE HINWEISE AUF *****
Zubehör und Ersatzteile
Kontaktieren Sie hierzu bitte Salamander Designs unter 860.761.9500 oder www.salamanderdesigns.com/commercial



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            19 of 30         	        503-030 [10.17]      

1. 	 Instalar SOPORTES DE GABINETE DE PARED
	 Installez les SUPPORTS MURAUX DU MEUBLE
	 Montieren der SCHRANKWANDHALTERUNGEN

¡ADVERTENCIA DE RIESGO DE VOLCAMIENTO!  El gabinete DEBE fijarse a la 
pared.

AVERTISSEMENT DE DANGER & CONSEIL Le meuble DOIT être fixé au mur.

WARNUNG: KIPPGEFAHR!  Schrank muss an der Wand befestigt werden. 

Monte de forma floja el Soporte (Q) 
utilizando un Tornillo (A), Arandela (R) y 
tuerca enjaulada (T).

Instale la tuerca enjaulada (T) en 
el montaje en las dos ubicaciones 
mostradas en la ilustración de abajo.

B

A

Q

A

R

T

Montez sans serrer le support (Q) à 
l’aide de la vis (A), de la Rondelle (R) 
et de l’Écrou encagé (T).

Installez l’écrou encagé (T) sur le 
montage dans les deux emplacements 
indiqués dans l’illustration ci-dessous.

Montieren Sie die Halterung (Q) 
locker mithilfe der Schraube (A), 
der Unterlegscheibe (R) und der 
Käfigmutter (T).

Montieren Sie die Käfigmutter 
(T) an der Halterung an jenen 
zwei Stellen, die in der folgenden 
Abbildung gezeigt sind.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            20 of 30         	        503-030 [10.17]      

NOTA:Se han ofrecido ajustes en el soporte para 
montar el gabinete 0-1” de la pared para considere 
el borde de seguridad de base u otros obstáculos. 

Suelte la tuerca con la llave ofrecida y 
apriétela en la posición bloqueada.   

Ubicar el gabinete en la locación 
deseada y marque los agujeros del 
soporte. Una vez que se han marcado 
los agujeros, mueva el gabinete.

2. 	Nivele el gabinete y MARQUE LA PARED
	 Mettez le meuble à niveau et FAITES UN REPÈRE SUR LE MUR
	 Ausrichtung des Schranks & MARKIEREN DER WAND

la tuerca 
le meuble
Sechskantmutter

A

B

Antes de asegurar a la pared, es importante nivelar el gabinete con el piso y verificar que las patas se han 
ajustado correctamente.  

Avant la fixation au mur, il est important de mettre le meuble à niveau avec le sol en vérifiant que les pieds 
sont correctement ajustés. Vérifiez et mettez à niveau la longueur et la profondeur du meuble.

Bevor Sie diesen an der Wand montieren, ist es erforderlich, dass Sie den Schrank absolut eben am Boden 
abstellen, indem Sie überprüfen, ob die Beine richtig eingestellt sind. Überprüfen und nivellieren Sie die 
Länge und Tiefe des Schranks. 

¡ADVERTENCIA! Este paso requiere dos personas.
AVERTISSEMENT ! Cette étape nécessite deux personnes.
WARNUNG! Dieser Schritt erfordert zwei Personen.

REMARQUE:Des ajustements ont été fournis 
dans le support afin de fixer le meuble.  à 0-1” du 
mur pour tenir compte des plinthes ou d’autres 
obstacles.  

Desserrez l’écrou de blocage avec la 
clé fournie et serrez jusqu’à la position 
de verrouillage.        

Placez le meuble à l’endroit désiré et 
marquez l’emplacement des trous du 
support. Une fois que les trous ont été 
marqués, déplacez le meuble.

HINWEIS:In der Halterung wurden Ausrichtungen 
angebracht, um den Schrank 0-2,5cm vor der Wand 
zu montieren, um die Sockelleistenverkleidung oder 
andere Hindernisse zu berücksichtigen.

Lockern Sie die Sechskantmutter mit 
dem mitgelieferten Schraubenschlüssel 
und ziehen Sie diesen an der 
Sperrposition fest.   

Bringen Sie den Schrank in die 
gewünschte Position und markieren Sie 
die Klammerlöcher. Sobald die Löcher 
markiert sind, verschieben Sie den 
Schrank.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            21 of 30         	        503-030 [10.17]      

3.	 ESTANTE DE CÁMARA  (OPCIONAL)  
	 TABLETTE POUR CAMÉRA  (EN OPTION)
	 KAMERAREGAL (OPTIONAL)

A

B

Instalar montaje
Instalar las ranuras de soporte (Q) en el centro 
del poste vertical de montaje utilizando Tornillo 
(U) y Arandelas (R).

Instalar poste
Insertar Tornillo (H) y Arandela (R) a través 
del Soporte hasta la Tuerca Plana (I) y apriete 
con llave hexagonal.

I H

R

I H

R

S

Q
R

U

Installez le Support
Installez les fentes de support (Q) au centre du 
poteau du milieu du montage vertical à l’aide de 
Vis (U) et de Rondelles (R).

Montage der Halterung
Montieren Sie (Q) Halterungsschlitze in der Mitte 
der vertikalen Standsäule mit Schraube (U) und 
Unterlegscheiben (R).

Installer le Poteau
Insérez la vis (H) et la rondelle (R) via le 
support à l’écrou plat (I) et serrez avec une 
clé hexagonale.

Montage der Säule
Fügen Sie Schraube (H) und Unterlegscheibe 
(R) durch die Halterung zur Flachmutter 
(I) hinzu und ziehen Sie diese mit einem 
Sechskantschlüssel fest.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            22 of 30         	        503-030 [10.17]      

3.	 ESTANTE DE CÁMARA  (OPCIONAL)  
	 TABLETTE POUR CAMÉRA  (EN OPTION)
	 KAMERAREGAL (OPTIONAL)

G

C Instalar estante
Instale el Estante de Cámara en el Poste 
de Montaje utilizando 2 Tornillos (G).

D Ubicar cámara
Utilice cinta de doble faz para 
asegurar la cámara y evitar que se 
deslice del estante.

Installer la Tablette
Installez la tablette de la Caméra sur le 
poteau de Montage en utilisant 2 vis (G). 

Placez la Caméra
Utilisez une bande adhésive double 
face pour empêcher la caméra de 
glisser de la tablette.  

Montage des Regals
Montieren Sie das Kameraregal mit 2 
Schrauben (G) an der Standsäule.

Positionierung der Kamera 
Verwenden Sie doppelseitiges 
Klebeband, um die Kamera vor dem 
Abrutschen zu schützen.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            23 of 30         	        503-030 [10.17]      

Taladre un agujero de 1/2” de diámetro. Sujete el canal metálico 
plano junto a las cintas plásticas y deslice el canal por el agujero.

Sujete las puntas de las cintas entre el pulgar y el dedo índice y 
hale hacia usted hasta que el canal repose en la pared. 
Deslice la tapa plástica en las cintas con cualquier mano con la 
brida de la tapa en la pared. 

Snap straps at wall by pushing side to side,snapping off straps 
level with flange of cap.

Mueva el gabinete a la pared y ajuste. Inserte el perno por el 
soporte y apriete hacia la pared. 

Instale los soportes de pared en las locaciones ubicadas en la pared y asegure el gabinete. 
NOTA: Se han ofrecido soportes alternativos para madera o mampostería. 
Installez les attaches murales à l’emplacement marqué sur le mur & fixez le meuble. 
REMARQUE: Différentes fixations sont fournies pour une installation en bois ou en maçonnerie.
Installieren Sie die Wandbefestigungen an der markierten Position an der Wand und befestigen Sie den Schrank. 
HINWEIS: Alternative Befestigungselemente für Holz- oder Mauerwerksmontage werden mitgeliefert.

4. 	Instale los SOPORTES DE GABINETE DE PARED (most applications)
	 installer les ATTACHES MURALES (la plupart des applications)
	 Montage der WANDBEFESTIGUNG (für die meisten Anwendungsfälle)

A

B

C

D

Percez un trou d’un diamètre de 1/2”. Tenez le canal métallique à 
plat à côté des sangles en plastique et glissez le canal à travers le 
trou.

Tenir les extrémités des sangles entre le pouce et l’index et tirez 
vers vous jusqu’à ce que le canal soit bien aligné derrière le mur. 
Faites glisser le capuchon en plastique le long des sangles avec 
une main pour qu’il s’aligne avec le mur.

Clipsez les sangles sur le mur en poussant latéralement, en 
fermant les sangles à niveau avec la bride du capuchon.

Déplacez le meuble sur le mur et fixez le support. Insérez le 
boulon dans le support puis serrer jusqu’à ce qu’il bloque contre 
le mur.

Bohren Sie ein Loch mit 1,25cm Durchmesser. Halten Sie den 
Metallkanal flach neben den Kunststoffriemen und schieben Sie 
den Kanal durch das Loch.

Halten Sie die Enden der Riemen zwischen Daumen und 
Zeigefinger und ziehen Sie in Ihre Richtung, bis der Kanal perfekt 
hinter der Wand anliegt. Schieben Sie den Plastikdeckel entlang 
der Riemen mit jeder Hand, wobei der Flansch des Deckels fest 
an der Wand anliegt.

Riemen an der Wand einrasten lassen, indem Sie von Seite zu 
Seite drücken, bis die Riemen am Flansch des Deckels einrasten. 

Schieben Sie den Schrank an die Wand und montieren Sie die 
Halterung. Führen Sie einen Bolzen durch die Halterung ein und 
ziehen Sie diesen fest an, bis der Schrank eng an der Wand 
anliegt.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            24 of 30         	        503-030 [10.17]      

MADERA: Ubique dos marcos de vigas utilizando un dispositivo de ubicación de vigas.  
MAMPOSTERÍA: Coloque los soportes en la ubicación deseada. 
MADERA: Utilice una broca de 3/16” [5mm] y taladre agujeros de 2.5” [64mm] de profundidad.  
MAMPOSTERÍA: Utilice una broca de 3/8” [10mm] y taladre agujeros de 2.5” [64mm] de profundidad. 

BOIS: Localisez deux structures en bois à l’aide d’un détecteur de structures en bois.
MAÇONNERIE: Placez les supports à l’endroit désiré. 
BOIS: Utilisez une mèche de 3/16”[5mm] et percez des trous de 2,5” [64mm] de profondeur.  
MAÇONNERIE: Utilisez une mèche de 3/8” [10mm] et percez des trous de 2,5” [64mm] de profondeur. 

HOLZ: Ermitteln Sie zwei Rahmenbalken mithilfe eines Balkensuchers. 
MAUERWERK: Platzieren Sie die Halterungen an der gewünschten Stelle.
HOLZ: Nutzen Sie einen 5mm Bohrer und bohren Sie 64mm tiefe Löcher.  
MAUERWERK: Nutzen Sie einen 10mm Bohrer und bohren Sie 64mm tiefe Löcher.  

4. 	Instalar CIERRES DE PARED  (ALTERNATIVA)
	 installer les ATTACHES MURALES (SUPPLÉANT)
	 Montage der WANDBEFESTIGUNG (ALTERNATIV)

C DInserte anclas de pared (M) en el 
agujero.

Ubique el gabinete en su lugar y asegure 
con arandelas (P) y Tirafondos (D).

A

A

A

M

P

D

B

B

B

Insérez les chevilles (M) dans le trou. Installez le meuble en place et fixez-le avec 
les rondelles (P) et les tire-fonds (D).

Setzen Sie Wandanker (M) in das 
Loch ein.

Stellen Sie den Schrank an der richtigen Position 
ab und befestigen Sie ihn mit Unterlegscheiben 
(P) und Schlüsselschrauben (D).



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            25 of 30         	        503-030 [10.17]      

5. 	Instalar sello de escobilla 
	 installez le Joint brosse 
	 Montage der Bürstendichtung

Montaje
Elimine la cinta e instale alineando y fijando la escobilla en el lado 
interno del poste de montaje vertical.

Lado del gabinete
Elimine la cinta e instale desde la parte interna del gabinete alineando y 
fijando el sello de escobilla en la parte interna del panel.

A

B

B

Utilizar con moldeado de rodapié, trabajo de bordes recortados o superficies desiguales de paredes. 
Los sujetadores de sello de escobilla deben mantenerse en la superficie para que ÚNICAMENTE se vea 
la escobilla.

Utilisez avec la moulure de la plinthe, les boiseries ou les disparités dans les surfaces inégales du mur.  
Les Supports de Joints Brosse devraient rester alignés à la surface afin que SEULEMENT la brosse soit 
visible.

Nutzung mit Sockelformen, Verkleidungsarbeiten oder Lücken auf unebenen Wandflächen. 
Bürstendichtungshalterungen sollten bündig zur Oberfläche bleiben, sodass NUR die Bürste zu sehen ist.

Montage
Décollez la bande et l’installer en alignant et en apposant la 
brosse à l’intérieur et à l’arrière du poteau du montage vertical.

Côté du Meuble
Décollez la bande et installez à l’intérieur du meuble en alignant et en 
apposant le joint brosse vers l’arrière à l’intérieur du panneau.

Gestell
Ziehen Sie das Klebeband ab und montieren Sie es, indem Sie 
die Bürste innen auf der Rückseite der senkrechten Standsäule 
ausrichten und befestigen.

Schrankwand
Ziehen Sie das Klebeband ab und installieren Sie von der Innenseite des 
Schranks, indem Sie die Bürstendichtung an der Innenseite des Innen-
raums ausrichten und befestigen.

A



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            26 of 30         	        503-030 [10.17]      

S

J

6.	 INSTALAR SOPORTES DE PANTALLA 
	 INSTALLER les SUPPORTS du présentoir 
	 MONTAGE der Display-HALTERUNGEN   

Instalar arandelas en el soporte
Fije la arandela (S) a la interfaz del soporte (W) con el  
tornillo (J) en el agujero inferior y superior como se  
muestra.
Note la posición de la arandela en relación al soporte.

Installer les Rondelles aux Supports
Fixez des rondelles à épaulement (S) au support de  
l’Interface (W) avec vis (J) sur le trou du haut et du bas  
comme indiqué.  
Notez la position de la rondelle relative au support.

Bauen Sie die Unterlegscheiben in die Halterungen ein
Befestigen Sie die Schulterscheibe (S) an der Schnittstellenhalterung (W) mit der 
Schraube (J) am oberen und unteren Loch wie abgebildet. 
Beachten Sie die Position der Unterlegscheibe im Verhältnis zur Halterung.

A

B Adjuntar los soportes a la pantalla 
Apriete el soporte utilizando los cierres (largo y 
ancho recomendado por el fabricante). Utilizar 
una longitud de tornillo inadecuada puede 
dañar la pantalla.
NOTA: Otras pantallas pueden utilizar otras longitudes. 
Se han ofrecido M8 16mm para ser utilizados con el 
Microsoft Surface Hub.

Fixez les Supports au Présentoir 
Fixez les supports à l’aide d’éléments de fixation 
(longueur et dimension recommandée par le 
fabricant du présentoir. L’utilisation d’une vis 
de mauvaise longueur peut endommager le présentoir.   
REMARQUE: D’autres présentoirs peuvent utiliser des longueurs de vis différentes. Des vis M8 de 16mm sont 
fournies pour une utilisation avec la Surface Hub de Microsoft.

Montieren Sie die Halterungen am Display 
Befestigen Sie die Halterungen mit Befestigungselementen (Länge und Größe, die vom 
Displayhersteller empfohlen wird). Bei unsachgemäßer Schraubenlänge kann das Display 
beschädigt werden.
HINWEIS: Andere Displays können unterschiedliche Schraubenlängen verwenden.M8 16mm Schrauben 
werden für die Verwendung mit Microsoft Surface Hub geliefert.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            27 of 30         	        503-030 [10.17]      

Utilizar las ranuras ofrecidas para el montaje, deslizar la pantalla hasta su lugar. 
En utilisant les fentes principales prévues sur le devant du montage, faites glisser le présentoir pour le 
mettre en place.
Verwenden Sie die Schlüssellöcher, die auf der Montagefläche vorgesehen sind, und schieben Sie das 
Display an seine Position.

7.	 AJUSTAR EL ÁNGULO DE LA PANTALLA  (OPCIONAL) 
	 AJUSTER L’ANGLE D’INCLINAISON DU PRÉSENTOIR  (FACULTATIF) 
	 EINSTELLUNG DES NEIGUNGSWINKELS DES DISPLAYS  (OPTIONAL)    

Inclinación de montaje pre-determinado en 
fabricación. Si se deben realizar ajustes, remueva 
la pantalla, afloje los pernos (V) y ajuste los pernos 
(K) en tres locaciones para lograr la inclinación 
deseada. No apriete demasiado el tornillo (V). Ajustar 
los pernos (K) inclinará el montaje. Los tornillos (V) 
sujetan el montaje en la posición deseada.  

V

¡ADVERTENCIA! Este paso requiere dos personas.
AVERTISSEMENT ! Cette étape nécessite deux personnes.
WARNUNG! Dieser Schritt erfordert zwei Personen.

6.	 INSTALAR SOPORTES DE PANTALLA 
	 INSTALLER les SUPPORTS du présentoir 
	 MONTAGE der Display-HALTERUNGEN   

L’inclinaison du montage est préréglée en usine.  Si 
un réglage est nécessaire, enlevez le présentoir, 
desserrez les boulons (V) et ajustez les boulons (K) 
à trois endroits pour obtenir la bonne inclinaison. 
Ne pas trop serrer les vis (V). L’ajustement des vis 
(K) inclinera le montage. Les vis (V) maintiennent le 
montage dans la position désirée.  

Die Neigungswinkel des Gestells ist werksseitig 
voreingestellt. Wenn eine Anpassung erforderlich ist, 
entfernen Sie das Display, lösen Sie die Schrauben (V) 
und adjustieren Sie die Schrauben (K) an drei Stellen, 
um eine korrekte Neigung zu erreichen. Ziehen Sie 
die Schrauben (V) nicht zu fest an. Stellschrauben (K) 
kippen das Gestell. Schrauben (V) halten dasGestell in 
der gewünschten Position.

vista lateral
Vue de côté
Seitenansicht

K



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            28 of 30         	        503-030 [10.17]      

B

C

A

8. 	Instalar estantes
	 Installer les Tablettes
	 Montage der Regale

A.	 La ubicación de estantes puede ajustarse de ser necesario en las locaciones previamente determinadas  
	 o utilizando cualquier ubicación utilizando Tuercas de descenso (N), ensamblaje de clavijas de estantería  
	 (ver diagrama abajo). 
B.	 Ubicar los estantes en las clavijas.
C.	 Instale los mecanismos de detención de estantes en la parte frontal o posterior como se desee. 
D. 	Instale accesorios (Kit Repetidor IR, Acondicionador de Energía, etc.) y ubique los componentes.

A.	 Le placement des tablettes peut être ajustée si nécessaire aux emplacements pré-percés ou à n’importe quel  
	 emplacement à l’aide d’Écrous À-Glisser (N) (voir le schéma ci-dessous).
B.	 Positionnez les étagères sur les chevilles.
C.	 Installez les arrêts de tablettes à l’avant ou l’arrière de la tablette comme vous le souhaitez.
D. 	Installez les accessoires (Kit de répéteur IR, conditionneur d’alimentation, etc.) et placez les composants.

A.	 Die Montage der Regale kann bei Bedarf entweder an den vorgebohrten Stellen oder an beliebigen Stellen mit  
	 Einsteckmuttern (N) und Montagestiften erfolgen (siehe Abbildung unten).
B.	 Platzieren Sie das Regal auf den Stiften.
C.	 Montieren Sie die Regalstopper wie gewünscht auf der Vorder- und Rückseite des Regals. 
D. 	Montieren Sie Zubehör (IR Repeater Kit, Power Conditioner, etc) und befestigen Sie die Komponenten.

Inserte en el canal y deslice hasta la altura deseada. Nivele 
el estante ajustando las posiciones de las clavijas y apriete 
los tornillos utilizando una llave hexagonal. Nota: la tuerca de 
descenso debe dar un vuelco de ¼ en el lugar.
Insérez dans le canal du poteau et faites glisser à la hauteur 
désirée. Mettez à niveau la tablette en réglant les positions 
des chevilles de la tablette et en serrant la vis à l’aide de la clé 
hexagonale. Remarque: L’écrou À-Glisser doit faire 1/4 de tour dans le 
poteau.
In den Säulenkanal einsetzen und in die gewünschte Höhe schieben. Regal 
eben abstellen durch Einstellen der Montagestiftpositionen; ziehen Sie die 
Schrauben anschließend mit einem Sechskantschlüssel fest. Hinweis: 
Einsteckmutter muss in der Säule eine ¼ Umdrehung machen.

Realice el ensamblaje de forma 
suelta como se muestra.
Assemblez sans serrer comme 
indiqué.
Locker wie abgebildet montieren. 

I
S

B

Opciones de tuercas de descenso 
Si desea ubicar los estantes en lugares diferentes a las pre-determinadas, utilice la opción de tuercas de descenso. Esta opción 
permite que el estante se ubique en cualquier altura.
Option de l’Écrou À-Glisser 
Si vous désirez placer la tablette dans un autre emplacement que ceux prépercés, utilisez l’option d’Écrou À-Glisser. Cette option 
permet de placer la tablette à n’importe quelle hauteur.
Option mit Einsteckmuttern 
Sollten Sie eine Regalmontage an anderen als den vorgebohrten Stellen wünschen, verwenden Sie die Option mit Einsteckmuttern.Mit 
dieser Option kann das Regal in jeder beliebigen Höhe platziert werden.
 



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            29 of 30         	        503-030 [10.17]      

Inserte Tuerca de Descenso (N) en las ranuras 
del montaje vertical y utilizando la llave 
hexagonal.

C

Aplique de forma suelta el conjunto de Tornillos (C), 
JCN (E) y Tuerca de Descenso (N) a través de cada 
agujero en el panel.

Panel frontal  
Remover y re-instalar

NOTA: Asegúrese de que la 
parte inferior del panel frontal 

esté alineado con laparte 
superior del gabinete.

Panneau de Fond  
Démontage et Réinstallation 
Remarque: Assurez-vous que la 
partie inférieure du panneau de 
fond s’aligne avec le haut des 

armoires.

Sichtblende  
Entfernen und Neumontage

HINWEIS: Stellen Sie sicher, 
dass die Unterseite der 

Sichtblende bündig zu an der 
Schrankoberseite anliegt. 

CONSEJOS DE AJUSTE
CONSEILS DE RÉGLAGE
TIPPS ZUR ANPASSUNG

A B

Rack vertical 3U / Étagère verticale 3U / 3U Stehgestell

Remover - Afloje los tornillos de 
ambos lados. Después incline el rack 
hasta que el gancho esté libre y levante 
el rack hasta que esté libre del tornillo 
inferior. 

Re-instale - Deslice las puntas 
ranuradas del rack en el tornillo 
inferior y enganche el tornillo superior 
como se ha demostrado. 

Apriete con la 
llave hexagonal 
suministrada.

A B

EN

Insérez l’Écrou À-Glisser (N) dans les fentes 
du poteau du montage vertical et à l’aide de 
la clé hexagonale fournie.

Assemblez sans serrer les vis de Blocage (C), JCN (E) 
et les Écrous À-Glisser (N) dans chaque trou dans le 
panneau. 

Setzen Sie die Einsteckmutter (N) in die Schlitze 
der senkrechten Standsäule ein mithilfe des 
mitgelieferten Sechskantschlüssels.

Montieren Sie die Stellschraube (C), die JCN (E) und 
die Einsteckmutter (N) locker durch jedes Loch in der 
Platte.

Enlever - Desserrez les vis sur les deux 
côtés. Puis inclinez l’étagère jusqu’à ce 
que le crochet soit libre et levez jusqu’à 
ce que l’étagère soit libérée de la vis 
inférieure.
Entfernen - Lösen Sie die Schrauben 
auf beiden Seiten. Kippen Sie dann das 
Gestell, bis der Haken frei ist und heben 
Sie es an, bis das Gestell frei von der 
unteren Schraube ist.

Réinstaller - Glissez l’extrémité 
fendue de l’étagère sur la vis 
inférieure et accrochez la vis 
supérieure comme indiqué.

Neumontage - Lösen Sie die 
Schrauben auf beiden Seiten. Kippen 
Sie dann das Gestell, bis der Haken frei 
ist und heben Sie an, bis das Gestell 
von der unteren Schraube frei ist.

Serrez avec la 
clé hexagonale 
fournie.

Mit 
Sechskantschlüssel 
festziehen.



Salamander 4 Bay Low Profile Wall Mount Cabinet with XL Display Mount                                                            30 of 30         	        503-030 [10.17]      

Ajuste principal (de lado a lado y de arriba a abajo) El ajuste se hace moviendo el 
tornillo (A) hacia afuera y adentro. 

Réglage principal (côté à côté et haut/bas)  
Le réglage ’effectue en tournant la vis (A) par intermittence.

Grundeinstellung (Seite zu Seite und Aufwärts/Abwärts) Die Einstellung erfolgt 
durch Rein- und Raus-Drehen der Schraube (A).

Desmontar bisagra del Herraje 
Con una mano sujete la puerta 
abierta, hale la palanca de liberación 
de bisagra (B).

Démonter la charnière de la lame 
de charnière en tenant la porte 
ouverte avec une main, tirez sur 
le levier de libération rapide de la 
charnière (B).

Demontage des Scharniers von 
der Scharnierplatte Während 
Sie mit einer Hand die Tür offen 
halten, ziehen Sie den Scharnier-
Schnellhebel (B) nach hinten.

Ajuste las partes superiores de las puertas para que 
estén paralelos a la parte superior del gabinete. 

Ajustez le dessus des portes afin qu’elles soient 
parallèles à la partie supérieure du meuble.

Stellen Sie die Oberseiten der Türen parallel zur 
Oberseite des Schrankes ein.

Puerta Frente
Devant de la 
porte
Türfront

A

A

A

GARANTÍA LIMITADA PARA STANDS Y SOPORTES DE VIDEO COMERCIALES

 Salamander se enorgullece de soportar nuestros productos con garantías líderes en la industria. Si alguna vez encuentra algún problema con un producto Salamander, 
déjenoslo saber. Estamos aquí para corregirlo. 1.860.761.9500

 La garantía completa incluyendo sus limitantes y la información para reclamar la garantía puede encontrarse en www.salamanderdesigns.com/commercial/warranty

Hecho en EE.UU.  

PUERTAS / PORTES / TÜREN

A

B

CONSEJOS DE AJUSTE
CONSEILS DE RÉGLAGE
TIPPS ZUR ANPASSUNG

NOTE: Es importante que el gabinete esté nivelado antes de ajustar las puertas, ver el paso 5. 
REMARQUE: est important que le meuble soit niveau avant d’ajuster les portes, reportez-vous à l’étape 5.

HINWEIS: Es ist wichtig, dass der Schrank vor dem Einstellen der Türen eben ist, siehe Schritt 5. 

GARANTIE LIMITÉE POUR LES SUPPORTS ET FIXATIONS DE PRÉSENTOIR DE VIDÉOS COMMERCIALES

 Salamander est fier de soutenir nos produits avec les meilleures garanties de l’industrie. Si vous rencontrez néanmoins des problèmes avec votre produit Salamander, 
faites-le-nous savoir. Nous sommes là pour tout arranger.  1.860.761.9500

 Vous pourrez retrouver la garantie complète incluant les limitations et les informations de réclamation de garantie au www.salamanderdesigns.com/commercial/warranty

Fabriqué aux États-Unis 

EINGESCHRÄNKTE GARANTIE AUF KOMMERZIELLE VIDEOSTÄNDER UND GESTELLE

 Salamander steht hinter seinen Produkten und bietet daher branchenführende Garantien. Sollten Sie dennoch einmal Probleme mit Ihrem Salamander-Produkt haben,  
lassen Sie es uns wissen. Wir stehen Ihnen bei allen Anliegen kompetent zur Seite. 1.860.761.9500

 Alle Informationen zu Garantien, inklusive Einschränkungen und Gewährleistungsansprüchen finden Sie unter www.salamanderdesigns.com/commercial/warranty

Made in USA
 


